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7 I saw ( a bus of your school ) this evening.

+ I didn’t know three hundred students ( go to school by train ).

% ( The number of students who live

) in Hirakawa is sixty five.

twenty three

I want to go to school by bike because the school is near my house.

7 What are you doing? / What have you been doing? / Are you free?

+ carrying heavy things is not easy for them.

v that’s wonderful. / it’s great.
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(20 1 He made it when he was a university student.

2 It said that he was wrong (and rockets could never fly out of the earth).

3 No, he wasn’t.

(30 11 think that it is important for high school students to have a dream.

2 I want to make something useful for people in the future.
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You take it when you feel sick. Then you’ll get better. Which picture shows this?

Junko wanted to buy a white T-shirt with the sun. But she couldn’t find it. So she bought a black one
with a big star. Which T-shirt did she buy?

Masao and you are having lunch in a restaurant. The food is delicious, but Masao isn’t eating so much.
What will you say to Masao?

Hello, everyone. Today I'll talk about my hobby. My hobby is fishing in the sea. I often go with my
father. When we go fishing, we leave our house early in the morning because we can catch more fish.

The other day, we caught 30 fish. We were very happy because we could catch more fish than we
thought. But they were too many for my family to eat. So we decided to share them with my
grandfather and grandmother. We visited their house on our way home and gave 15 to them. They
looked very happy.

I will go fishing with my father and grandfather next week. I can’t wait! Thank you for listening.

Is Kenta’s hobby to go swimming in the sea?
Why do Kenta and his father leave their house early when they go fishing?
How many fish did Kenta’s grandfather and grandmother receive?

Candice: Marvin, I got an E-mail from Chiaki. She has invited me to her fifteenth birthday party.

Marvin : I got an E-mail, too. Her birthday is February twenty-fourth, isn’t it?

Candice: Yes. Lots of other friends will visit her house.

Marvin : Then, it’ll be a wonderful birthday party.

Candice: We'll talk, play games, listen to music, and eat together. Marvin, what are you going to give

her as a birthday present?

Marvin : I'll buy a music CD for her. She loves rock music.

Candice: That’s a good idea. She’ll enjoy listening to it very much. Well, what shall I give to her?

Marvin : Don’t worry, Candice. It's February fourteenth today. You have lots of time to think about a

present for her.

Candice: Right. I hope I'll be able to find a nice present for her. By the way, this is for you.

Marvin : Oh, pretty chocolates. Thank you. But why?

Candice: Today is St. Valentine’s Day. I love you so much.

Marvin : Oh, I'm very surprised. I love you, too.

\1
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Did Marvin get an E-mail from Chiaki?

When is Chiaki’'s birthday?

What will Marvin buy for Chiaki as a birthday present?
How many days are there before Chiaki’'s birthday?

AARGEZ RV RGEDHDERTY, THHT IV,



¥ Py S5 Y
wow MK B K
g=
7 -7
AAPB & ACPM 1231,
p . MTHANELNOT, ZAPB =/CPM - @
AB//DC kv, SATHOEANELWVLDT,
(1) v 3x2—10x—1 (1) /PAB =/PCM -+ @
DO, @k, 2lOANENETNELVDT,
- 6ba
b AAPB oo ACPM
3
7 6 A 3 cm?
(2) a= 2,3 7 J13 cm
(3) X = -8 , Y= 15 (2) A MP:PD= 1 : 1
(4) x= e v 2y 13 cm
2 3
(5) y= 2 (1) a= —4 , b= -1
27
4 (2) 1
a7
(3) P( 0 ’ 1 )
(6)
7 11 &
A 559
5
(7) 1758 cm? 4 (n—1)24+1 (n?—2n+2 )
(8) 14 i3 - 26 B H DD 5 #H
@ 40 —x @) A—-1.1
(1)
® A+0.9 @ 18
(2) 5.5
X = B OE G
(3) T
(4) 250




2017 REAFZBDESFFR AFHR =8 METAK

51 52 X1
A 4 B ™~ C 7 D T a T b 4 30
Fl:ﬁ3 Fl:ﬁ1'ﬁ:ﬁ2 %‘1#—"_\)(6
A 4 B > c T D r7 fl3~f7 &2mx12
54
= & (EAE) #h B EARRE)
KRERE(BEH) SUHR—IL Rray (FE) BAT(EE)
Fl:ﬁ5 Fl:ﬁﬁ Fl:ﬁ7
RET7UTHREES 1 @ 4 “
1 2 f93 f54 55 %2
EIRER KERF b/ BEH KIETF/\ER 14
f516 57 8
r | xExwEEES 196445 SR TOf2s
f f2 f53 f514 f&15 X3
Johy KRE S LY/2 EXEM JLA141H 14
fi6 g7
i&%ﬁ ?ﬁ:ﬂ] Fﬂﬁ1~Fﬁﬁ7 %2)-1';-[)(7
fE 1 f2 53 f514 f515 f516 x4
FRXIGEE 7 ERER 4 BREH 4 12
7 GE)
=@y T BE1R FOfth2m
gl fE2 53 f514 f1~f2 %21 X5
1997 ) il ) FI3~f4 &1 6
Bl 45 B2 45 B3 2% 94 25 5 28 36
BER ARHEE RIS L vyh—H— EE1TA 14
1 28 f2 284 f3 28 R4 25 fH5 25 X7
1960 pasb & 51 =i HhoROT 10
XA




XEF 18 A
W 2874 14

@A1,v, =% 28

XEF 16 A
W7 284,04 3K
@T7& 154,74 3K

XE 15 A
1,24 15
(3),(4),6),6)85,(N& 2 4
(6)FRE 3 52

¥E 17 R

D245 Q% 14
B4 m @),6)% 3 K
(5G)2 &

HEH 1T AR

D, D1 % 45
23 A

3,7 ,(B)% 2 K

BOoR M K H MK
a b
|7 3 +{ 5 2 @ |7 I i k=g Y A
d f
@ |7 A RER T E A c 4 d e
|7 K& & A 1.4 1% 50
b m/F)
1 FIH O 1 2 FEFALL E R
@ |7 B L&) A 44 1% 60
%
(1) P 2 AR 3 4 (4) 90
H
6)) 4 ® | K 3 R 9.3 @) 8
{& km
@ @ @
(1) 4 2 5 i TIVH (3 HCl + NaOH — NaCl + H20
(4) A, B, C (5) 4 (6) A, 7, U
2 1, 4 (3) C (4) J g EtH[E] 0
@ | 4 | A APEEET S DI, BROME 2T 51T 6 X
5/
&=p (5) 5
: B G 4 1T Cund) &
Y (BER 2 DT LTV D)
EIPNTWBEZ &,
@ @
fitidd Ik KENK e R
@ ® (3)
(1) ELNE i iR
@ @
iTERIR KEFR (N
B R 1L GEQRINN
(2) O, ©, @, @ ®, ®, @, ®

MEF 17 8
W% 1.8 % 24

(34 5

W
5

*® =




